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زیر مسئله حل مطلوبست .١

ut = uxx + ٢ux + u+ ١, ٠ ≤ x ≤ ١, t ≥ ٠

u(x, ٠) = x,

ux(٠, t) = sin t, u(١, t) + ux(١, t) = ٢.

زیر مسئله حل مطلوبست .٢r٢urr + rur + uθθ = r sin θ, ٠ ≤ θ ≤ π, ١ ≤ r ≤ ٢

u(r, ٠) = r, uθ(r, π) = ٠, u(١, θ) = θ, u(٢, θ) = ٠.

زیر مسئله حل مطلوبست .٣
utt − uttxx + uxxxx + ۴u = xt, ٠ ≤ x ≤ ١, t ≥ ٠

u(x, ٠) = x, ut(x, ٠) = x

ux(٠, t) = t, uxxx(٠, t) = ۶, u(١, t) = ١, uxx(١, t) = ٠.

زیر مسئله حل مطلوبست .۴
ut − uxx + ٢ux − u = ٠, ٠ ≤ x ≤ π, t ≥ ٠

u(x, ٠) = x,

u(٠, t) = ٠, u(π, t) = ٠.
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